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BB f1 56 4 = R
v u| & & sy B O e
s |8 E o % = (%)
Ok ) 24B5TH
(mm) |5 35 ?ﬁfg ?ﬁfié #13% [0.1m|0.2m|0.3m|0.5m|1.0m|2.0m| ¥ty ;!)Zfaijﬁ\
1 | 732.2| 2.3| 6.7|99.6| 1.5| 2.1| 3.0| 3.9| 4.5| 7.6|13.0|72.5 42
n | 732.9| 3.2 7.7| o.2| 3.2| 3.7| 4.5 5.2| 5.2| 7.1|11.2|73.1 44
m | 734.8| 6.8|11.5| 3.5| 7.0| 7.5| 8.2 8.7| 7.9| 8.3|10.4|80.3 48
v | 733.8| 12.8|17.0| 8.2|11.5|12.0|12.7|13.2{12.2|11.5]11.0|70.5 41
v | 732.0| 16.6[20.3]12.1|16.7|16.9{17.5|17.8|17.1|15.612.9|76.4 48
VI | 731.9| 19.0/21.9|15.8(19.9|19.7|19.820.4|19.3]17.9|14.7 |89.8 63
VI | 732.8| 24.0|26.7|21.0|24.7|24.8|24.8|25.3|23.7|21.2|16.6|90.6 77
v | 729.5| 23.8|27.2|21.1|24.7|25.2|25.6|26.1|25.1|23.3|18.687.8 71
X | 734.1| 19.4|22.5|16.8|20.2|21.1|22.3|22.4|22.0(21.9|19.4(87.2 68
X | 735.1| 16.2]19.7|13.1|15.8|16.5|17.4[18.3|18.1|19.1|19.0|79.6 54
X | 736.0| 9.3|12.8] 6.7| 9.5|10.4|11.4|12.2|12.7|14.9|17.3|78.2 56
m | 736.3| 6.1|10.7| 3.3| 5.0| 5.3| 7.5| 7.1| 8.0{10.7|14.9|70.6 48
# | 733.4| 13.3[17.1]10.1[13.3(13.8|14.6|15.1|14.7|14.9|14.9|79.7 a1
J&, B i3 £ H
A (m/s) £ 4 B | BE| 2 R 28 X|T HB| 2R | 8 | Bz
%“#;rla’g BA| X A & R :—: Clear| Cloudy | Sunless /Uu‘ l__] L,J
I 4| 2 1| o 13 4 0 3| 22
11 2.8 4| 1 o 4| 7 13 5 1| 10
m 2.8 3| o o] 5| 9 16 7 1| 2
v 2.8 o| o o 4| 14 10 6 o] o
v 2.3 o o ol 3| 10 12 5 o] o
VI 1.7 o| o 3| 7] 1 23 9 o o0
VI 1.6 o| o 2| 6| 1 15 5 o o
vI 2.0 o| o 2| 3| s 16 3 o o
X 2.3 o| o o| 5| 3 15 8 o| o
X 2.7 o| o o| 2| o9 11 4 o] o
X 2.8 o] 1 o] 5| 9 14 9 o] 1
u 2.9 o o o] 1| 19 8 1 2| 9
& 11 4 8| 45| 101 157 62 70 44
*/REIA A FKFEEIN4, 24, 25, IV1, 16, V17, VI13, Vll2, V22, IX25, X 1, 8, 22, 29, XI2

B (F#9) V15, 16, V31,

Xz,

3,

10, X8, 9
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e 7K h-§ B 7 B Kk B #&
PR |FE| ¥ ) FR R
;*‘Z?,E 5| B | B X 24 B M R
%y |wm| B & & =
(nn) | (am) | B | gg # |mow| | B B 20.5/21.00 25 | 10| 250 | =100
2.0 4| 221.65 1| 20| 170 1| s| 3| 2| 1| o o
1.8 6| 140.90 6| 7.5 17.0| 17| 1| 1| s| 3| of o
20| 6| 163.30 44| 266.0| 53.0| 25| 13| 13| 9| 9 1| o
26| 4| 201.90 52| 256.0| 53.5| 19| 15| 15| 12| 10| 1| o0
28| 6| 193.95 45| 136.5| 55.5| 17| 8| 8| 6| 4| 1| o0
170 9| 91.30 21| 116.5| 39.0| 13| 14| 14| 7| 4| o o
28] 8| 150.60 34| 95.5| 54.0] 2| 10| w0| 4| 3] 1| o
31| 6| 178.05 43| 79.0| 39.0| 22| 10| 10| 4| 2/ o] o
21| 7| 123.10 33| 174.5| 50.0| 25| 15| 14| 9| 5| 1| o
26| 6| 179.95 52| 355.0146.0| 22| 8| 8| 6| 6| 3| 1
1.9 6| 123.10 40| 162.0| 83.5| 2| 10| 10| 8| 3| 1] o
2.0 3| 205.15 68| 215| 7.5 19| 5| 4 2| o o] o
2.3| 61972.95 45|1760.0 | 146.0 | X22| 124| 120| 74| 50| 9| 1
]
n B =3 i
27 | WRE | £k | B’E
| LU O] &2 n 5 = @ 8 « B
(BB%Fm) (E3F0)
0 241 1] 1 # | A | B | ® | A |8
0 nl 2| o i
B E S ®m | =30 |56 || 15| 56 10
2 3l 1| o
5 ol ol 2 | BmEm & ® | =255 | V|2 |56 28
17 ol o o ]
BESE | =05 | @ |2 |[5|m]|1n
14 ol o o
18 ol of o = Ly |s6] 1 |12 |5 |m| s
12 ol of o
= | L | 55| x| 14|56 | m| 1
18 ol o] o
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BB Of 57 & & =
N
TR B = 2 B o &
g % 73 = °
k) 247508
(mm) < SRy | Sy T | SEE
m) ) me | o | H1R (0.1m10.2m (0.3m[0.5m | 1.0m|2.0m | FHy | PEE
D E/N
1 733.8| 3.8| 8.6| 0.9 3.6| 4.4| 5.4| 6.2| 6.7| 9.0|12.7]73.9 42
* * * * * * * * * M He * *
1 734.9| 30| 73| 02| 31| 38| 47| 52| 53| 7.2| 11.2] 76.3 44
m 734.7| 7.8|12.2| 4.5| 7.6| 8.0| 8.7| 9.1| 8.5| 8.8|10.4]74.9 45
v 734.7| 12.716.7| 8.2(12.0|12.3|13.0|13.3|12.4|11.7|11.1 ] 74.2 43
v 732.5| 18.5|21.6|14.8|18.6|18.7|19.0|19.3|18.1|16.2|13.080.8 50
vi | 728.6| 19.1|22.3|15.8|20.1|20.2|20.6|21.4|20.4|19.0(15.4]87.0 61
VI | 730.7| 20.6|23.7|17.8|21.8|21.7|21.9|22.5(21.5/20.5|17.5|90.6 69
VI | 732.2| 24.3|26.6|21.6|25.2|25.2(25.4|25.9|24.7|22.9|19.390.3 76
X | 733.3| 20.2|22.9|17.6|20.9|21.4|22.1|23.0|22.6|22.7|20.9]88.0 58
X 735.8 | 15.6|19.1|12.7|16.0|16.6|17.4|18.4|18.1|19.3|20.181.2 54
Xt | 736.6| 13.1|16.4|10.0|13.0|13.6|14.4|15.1|15.3|16.8|18.4]81.5 51
o | 735.7| 7.4|11.2| 47| 7.2| 7.9| 8.9| 9.7/10.5/|13.0|16.4 ] 75.8 53
* * * * * * * * * * * * *
& 733.6| 13.8|17.4] 107|141 145|151 158|153 15.6| 15.5] 81.2 2
& b i3 ® H
(m/s)
A £ = E | BE| £ B2 XK|IT B BER| B B
24RFMH —
Oy BAR | X AN A [€ | = |Clear|Cloudy |Sunless ,Uu' L] L,_I
I 2.9 al 1 1| 2| 14 8 1 2| 7
il 3.0 50 1 ol 2| 9 10 4 0| 10
1 2.7 2| 1 1| 8| o9 18 5 o| o
N 2.3 ol o 1| 5| 9 14 5 o| o
v 2.1 o| o ol 4| 4 13 6 ol o
i 1.8 ol o 1] 8| 3 16 8 ol o
VI 1.5 o o A 22 5 ol o
VIl 1.7 ol o 4|l 4| 4 15 5 ol o
X 2.5 ol o 2| 6| 4 20 7 ol o0
X 2.5 ol o 1| 6| 1m 14 5 ol o
X 2.4 ol o 1| 6| 6 12 6 ol o
I 2.7 1] 1 ol 4| 9 12 5 3| o
-3 2.3 12 4 13| 62| 84| 174 62 5| 17
*REBE SEKE, SR, B, B, KRR, =R, DEEK 4

B (Frg) 1127, 28, Z&AEFEEIIL3, 20, IM20, 31, IV15,V 3,VI3,26,Vll1,X2,8,11,19,X 4




#H gy T EEEMKRBEE
L - B oAk & g 8 W Ak H K
Em F B B R
Vi 5 B X u B M R
5 z g
(um) B | g ot | max| | B 205021.0 25 | 210{ 250 | =100
9| 4| 188.00 60| 106.0| 75.00 4| 9of 8| 4| 2| 1| o
51 5| 134.9 44| 130.0| 43.0| 200 8| 8| 7| s| o o
21| 6| 162.70 44| 200.5| 53.5| 20| 12| 11| 8| 7| 1| o
230 6| 177.40 45| 194.0] 6s.0| 15! 10| 10| 7| 6| 1| o
28| 7| 215.80 50| 169.0| 35.5| 3| 9| 9| 9| 7| of o
23| 8| 147.80 34| 225.5| 59.0| 26| 12| 11| 11, 8| 1| 0
8| 115.85 26| 433.0| 98.5| 16| 11| 11| 11| 9| 4| o0
7| 166.40 40| 131.0] 315 1] 12| 11| 6| 6| o] o
8| 109.95 30| 455.5| 72.0| 23| 19| 19| 15| 12| 3| o
6| 180.10 52| 330.0 1000 19| 11| 11| 8| 6| 2| 1
6| 122.05 40| 219.0| 425 4| 12| 12| 10| 9| of o0
6| 150.60 50| 61.5| 16.5| 26| 10| 10| 4| 3| of o
% | 1871.55 42 | 2655.0 | 100.0 | x19| 135| 131 100| 80| 13| 1
H = = &
wm | wk | mE | D &
HIBg M| = & = = w  H N
(HEFD) (BBF0)
0 8 4 1 #= | g | B | ® | A| =
0 u|l 3| o i
R o| | =230
4 2 o] 1
8 o o] o = m | | =225 | 57 | V| 20| 57| X |27
13 ol ol o \
BEESEB| =0 56 X 3 57 11 9
14 ol o] o
19 ol o] 1 = L} | 57| I 9 | 57 | 1 | 28
14 ol ol 2
= # | LJ |56 | W | 29| 57 | I | 2
5 ol o] 1
6 ol of o = > |57 | 1 6 | 57 | m | 25
7 0 0 0
=5 57 | 1 6| 57 | 1m | 25
2 o o| o B
92 24| 7| 6 Kk | b | 56 | @ | 29| 57 | I 8




B fl 58 4 = ®
v w| = & H & CC)

A % F (§(®)) % & (%)
(?(mﬁ)vw%’g“ 5% |0.1m [0.2m|0.3m |0.5m | 1.0m|2.0m | 2 | Flm
| B .1m|0. . .5m|1. . 9| ¥
1 736.2| 45| 9.2| 1.2| 3.5| 4.3 5.4 6.1| 6.6| 9.4|13.9|64.4 39
m | 733.3| 3.7| 8.3| 0.4 2.9/ 4.1| 5.2| 6.0] 6.0| 8.1|11.8|68.2 31
m | 734.5| 6.5[10.6| 3.5 6.4| 7.0| 7.8| 8.3| 7.7| 8.4|10.6|72.2 34
v | 734.7| 14.2|17.5(10.4|13.7|13.6|13.9|14.2|13.0|11.7 | 11.0|83.5 58
vV | 732.3| 17.7[20.7|13.5|17.8|18.2|18.7|19.4|18.1|16.2|13.2|75.8 49
VI | 729.8| 18.1|20.8|14.6|18.9|19.4[19.920.7|19.7|18.4|15.5|85.1 51
VI | 728.9| 21.6|23.8[18.9|22.6|22.4|22.4|22.9|21.5/19.9]17.293.9 76
VI | 730.1| 24.6|27.3|22.0|25.9|25.9|26.2|26.9]|25.7|23.7[19.7|91.1 66
X | 732.8| 21.1]23.5|18.5|22.3|22.8|23.4|24.6|23.9|23.8|21.2|90.1 68
X | 735.4| 15.4|18.6[13.0(15.9|16.7|17.6|18.7|18.520.0|20.685.4 56
X | 734.5| 10.2|14.3| 7.4| 9.7|10.4|11.5|12.8|12.9|15.8|18.4|80.1 49
m | 7333 4.9| 9.6| 2.0| 4.1 4.6| 5.8| 7.0| 7.8]|11.4|15.662.6 34
£ | 733.0| 13.5|17.0(10.5|13.6|14.1|14.8|15.6(15.1|15.6|15.7|79.4 31

i b #t % H

R (m/s) = ;4 B |BEE | &8 W8 R\ T B\ BA| B | B
URE Bk [ ¢ A | A | R | = |Clear|Cloudy |Suntess| W+ | L] | LJ
I 2.3 3| o of o 4| 18 7 4 4| 17
II 2.8 ol o of o 3| 13 7 4 2| 12
m 2.3 2 1| o| of 5| o9 15 9 o| 5
v 2.5 o o o of 8| s 15 6 o o
v 2.0 o ol of o 5| 8 9 2 o| o
VI 1.9 of of o 1] 10| 8 18 6 o] o
I 1.9 o of 1| 3| 9| 1 23 10 o] o
VI 1.6 o] of o 1| 4| s 15 3 o] o
X 1.7 of of of 2| 7| 2 18 7 o] o
X 2.2 o] o o 1| 7| 3 18 6 o o
X 2.7 0 0 0 2 3| 14 10 4 1 0
)| 2.8 2| ol o o of 18 6 2 3] 1
& 2.3 7| 1| 1| 10| 65| 105 161 63 0] 45

*REIAA ZEFE&EII6, 17, 110, 23, IV1, 10, 16, 17, V16, 19, VI3, 16, 20, VII6, 7 , 27,

Vil14~17, IX20

B ()

>

25, 27, 28X110, 23
121, Im20, 23, Iv3,

4, VI3,

14, X10




T 8 By TEHEEMKRERE
Mok & B B OB Kk B %
TR | FEE | FE B B
S| om| @ 8 X 24 B M &
x = % &
x| wE © T
(mm) | (m) | B | &8 2+ | mox| @o @ | B |=0.5/21.0/ 25 | 210 250 | =100
1.7] 3| 188.90 61| 66.0| 200/ 5| 6| 5| 4| 3| o o
20| 4| 185.75 61| 190.5|114.0| 17| 6 6| 4| 1| 1
1.9 6| 155.50 42| 226.5| 50.5| 10| 17| 15| 11| 8| 1| o
20| 7| 151.85 39| 263.5| 60.0| 10| 12| 12| 10| 8| 1| o
31| 6| 218.05 50| 123.5| 32.5| 16| 10| 9| 6| 4| of. 0
23| 7| 157.80 36| 287.5| 91.5| 20| 15| 15| 9| 8| 2| o
1.3 9| 89.35 20| 261.5| e4.0| 7| 15| 15| 9| 7| 2| o
29| 7| 168.90 41| 311.5| 80.5| 14| 7| 6| 5| 4| 4| o
1.9 8| 112.50 30| 286.5| 58.5| 28| 19| 18| 13| 8| 1| o
8| 131.30 38| 3s1.0| 77.0| 11| 12| 12| 10| 9| 2| o
21| 5| 1711.75 56| 177.0| 55.5| 23| 10| 9| 6| 5| 1| o
1.7 3| 192.00 63| 41.5| 17.0] 10| 4| 4| 4| 1| of o
6 | 1923.65 43|2586.5|114.0 | m17| 133| 126| 93| 69| 15| 1
#
o = i
B |RE | K| ®/SE
|+ U O] &= 8 5 = 0 ® B
(BBFT) (BEF)
0 0 0 1 # | A |8 |® | 8|8
1 0] ol 3 )
BEm K E | =30 |58 | vm| 1958 | vm| 30
1 4l ol o
14 ol ol o | BEE®E | =225 |58 | vi| 1|58 ]| IX| 22
13 ol o] s )
BRES®BE | =so0|58]|1I 3 |58 | m | 19
8 ol o o
15 ol ol o = Ll |57 | m | 8|58 | 8
20 ol o o
£ £ LJd | 58 | 1 3 [ 58 | I | 19
12 ol of o
6 ol o 2 = > |57 | m | 19|58 | m| 18
8 ol o o —
0 121 1] 1 —
98 6| 1| 12 | #& b | 58 | 1 4 | 58 | m | 19




10

B A 59 4 = %
v ol x @ s # (O .,
s FE ( 7 & °
R Gk
=4 iy | iy | 240FMH
(mm) | 3zt = 2 | #5% 10.1m|0.2m [0.3m|0.5m|1.0m|2.0m | F¥y | FHE
=e | & DE/N
1 732.9| 1.2 5.6|98.9| 1.0| 1.7| 2.5| 3.3| 4.2| 7.6|12.9|70.0 40
II 732.7| 0.5| 4.7|97.8| 0.8 1.7| 2.4| 3.1| 3.0| 5.7|10.5|75.4 45
m | 733.1| 4.3| 9.0| 0.6| 3.2| 3.8| 4.5| 5.3] 4.7| 6.0| 9.2 64.8 33
v | 735.6| 9.7|13.8| 5.6/10.2/10.1|10.7|11.310.1| 9.2| 9.4 78.3 47
v | 732.6| 15.2|18.0|11.6|16.5|16.0|16.3|16.9|15.5|13.8|11.4|81.4 43
VI 731.6| 18.9|21.3|17.0|20.5|20.5|20.5|21.0{19.7 | 17.5|14.0 | 95.0 73
wi | 729.7| 23.6|26.2|21.0|25.2|24.7|24.6|25.1|23.8(20.9/16.9|90.2 81
VI | 732.6| 25.227.9|22.2|27.126.9|27.4|28.1(26.5/|23.8(18.9]82.3 66
X | 732.8| 21.4|24.1018.1/22.4|22.7|23.3|24.3|23.4|22.9(19.9]83.2 60
X 734.2| 15.2|18.4|12.4/15.9|16.5|17.2|18.3|18.1|19.4|19.179.7 47
X | 737.6| 10.8|14.7| 7.810.7|11.3|12.2|13.2|13.5|15.7|17.2 | 74.8 45
| 7347 6.0]10.1] 3.2| 5.9| 6.3| 7.2| 8.2| 8.9|11.7|14.8|73.3 48
# | 733.3| 12.7|16.2| 9.7|13.3]13.5|14.1|14.8|14.3|14.5|14.5|79.0 33
& Pz M ®= =]
(m/s)
A S = s | BEE | E BB &2 K| & R 2R | B | &8
24F% p—
PR mx | % | A | A | R | = |clear| Cloudy | suntess| | LI | LJ
I 3.2 8| 2/ of o 1| 17 7 3 4| 18
11 3.0 s| 3| o o 2| 7 11 3 ol 14
i 2.8 6| 1| o o 1| 12 10 4 1] 10
v 2.7 1l 1] o] 1| 5| 7 14 5 ol o
v 2.1 ol o o o 9| 6 15 6 ol o
i 2.0 ol ol ol of 16| o 24 13 ol o
I 1.1 0 ol o o 6| 5 14 5 ol o
VI 1.1 ol ol o 2 1| 7 7 1 ol o
X 1.6 ol of o ol 4| s 1 4 ol o
X 2.4 ol o] o ol 3| s 17 7 ol o
X1 2.7 ol ol 1| o] 2| o9 16 7 ol o
XI 2.7 ol ol o 1| 4| 10 14 4| gl 6
= 2.3 23| 7| 1| 4| 54| 92| 160 62 13| 48
* REAH FHEFXEIL, 26, IV19, VI3, 22, 26, 28, IX18, 19, X12, 26, XI15, Xill

B (Frg) 112, 13, 31, ViI6, V16, X13
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£ # g TERIBTMHKRFE
3 7K = 2 B B Kk B
TR | FE| E =hiE=2
f;ggg 3| B K 24 B M B
Z = w5t
HEh | BWE| = -
(m) | (mm) | & | g8 3t |max| W | B A 205/21.0[=5 | 210 250 | 2100
1.6 3| 189.45 61| 81.0] 29.0| 31 7 7 5 3 of o
1.7 6| 166.25 53| 103.0| 39.5| 26 7 6 4 4 0 0
2.0 51 177.95 48| 116.5| 19.5| 19| 11| 11 9 6 0 0
21 71 175.85 45| 104.0| 59.5| 19| 11 8 3 2 1 0
2.6 7| 159.45 37| 62.5| 18.0| 16 9 8 5 3 0 0
1.6 9| 81.55 19| 348.5| 72.0| 26| 22| 21| 12 9 2 0
2.6 71 173.40 39| 46.0| 14.0] 28| 10 9 3 2 0 0
4.0 5| 232.80 56| 25.5| 14.0| 21 3 3 2 1 0 0
2.5 6| 173.20 47| 128.5| 35.0| 18 9 8 6 5 0 0
1.8 7| 117.20 34| 194.5| 61.5| 26| 13| 10 7 6 1 0
1.5 6| 123.35 40| 102.5| 41.0| 15 7 7 6 3 0 0
1.5 5| 152.70 50| 128.5| 48.5| 11| 11| 10 5 4 0 0
2.1 6 | 1923.15 43|1441.0| 72.0|VI26| 120 | 108 | 67| 48 4 0
Ed
il% ;%; = i
B | RS | Xk | ES
—| LU O B oW = H I B #® A
(EgF0) (B3F0)
0 o201 # | B | 8B | & | A | H
0 22 2 2 .
B E S B | =230 | 59 | v 6 59 IX 4
0 13 2 1
3 0 0 1 B E KB | 2250 | 59 | VI 19 | 59 X 3
14 0 0 0 )
BEESKBE | =0 58 | X 18 | 59 | IV 3
6 0 0 0
18 0 0 0 & L) | 58 | Xt | 3 | 5 | W 1
7 0 0 0
1 i LJ |58 | ® 17 | 59 | m | 29
10 0 0 1
5 0 0 1 £ > | 58 | W | 30 | 59 | IV 1
5 0 0 0
= 58 | X | 30 | 59 | I | 19
0 s| o 1 =
68 68| 6| 8 ko | 58 | @ | 17 | 59 | I | 29
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B Of1 60 K ®
r co - R ® 0 ®
A f E B &
Ok &) Ton 2453
(om) | s 3y ;g gfg #5% [0.1m|0.2m |0.3m [0.5m |1.0m |2.0m | ¥y ggﬁj@\
I 734.7 1.8| 6.9/99.1| 1.6| 2.4| 3.2| 4.1| 4.7| 8.0|12.2|77.2 45
i 731.4 4.9| 9.6| 1.9| 4.3| 4.8| 5.6| 6.2} 5.9| 7.4/10.2|71.3 38
m 736.8| 5.7| 9.7| 2.5| 6.3| 6.3] 6.8| 7.2| 7.0| 7.7| 9.5|87.2 58
I\ 733.7| 12.7|16.7| 8.6|12.2|12.1|12.6|13.0|11.8|10.7 [ 10.1|79.4 52
v 733.4| 16.720.0|13.2|17.6|17.8 |18.2|18.7|17.3|15.2 | 12.2 | 82.7 49
VI | 731.1| 18.7|21.3|15.5|19.3|19.2|19.3(19.9|18.9|17.5|14.6|86.6 52
VI 730.1| 24.1(27.2|20.925.1{24.9|25.0{25.624.0|21.2|17.5]86.7 64
VI | 733.7| 24.8(27.3|22.2|26.7|26.9|27.5|28.2(26.7|24.2(19.5|89.4 71
X 733.6 | 21.3|24.0(18.7|22.5|22.9|23.5|24.4|23.9(23.6|20.889.0 71
X 735.5| 16.0{19.7|13.0|16.2|16.7|17.6|18.5|18.3|19.7|19.7 | 80.4 57
Xt 732.8| 12.8|16.7| 9.2|11.4{11.9|13.0|13.9 |14.0|16.1|17.7 | 75.1 51
i 734.8 6.5[10.8| 2.8| 5.0| 5.5| 6.6| 7.6| 8.4|11.8|15.3|72.3 44
# | 733.5| 13.8{17.5|10.6|14.0[14.3|14.9|15.6|15.1|15.3|14.9|81.4 38
B S# HE ® H
(m/s)
A E< = B2 |8 B W B X| T B\ 2R B | B:
géﬁg BK > A & [€ | = |Clear|Cloudy | Sunless /LLU' l_l L1-|
I 2.9 3| 3 0 0 14 7 1 1| 14
I 2.8 1 0 1 4] 13 10 6 ol s
m 3.3 o] o 1] 10| 3 24 14 o] o
I\ 2.9 0 0 2 50 11 14 7 of o
v 2.3 0 0 0 7] 6 16 9 o o
VI 2.1 0 0 o] 1 3 20 11 o o
I 1.6 o| o 3| 3| 10 12 5 o] o
VI 2.0 o] o 1| o 4 14 2 o] o
X 2.2 0 0 2 5| 4 17 6 o] o0
X 2.4 0 0 1 3 7 17 6 o] o0
x 2.4 of o 1| 3| 17 7 4 o] o
bl 2.7 0 1 0 2 15 6 2 4 7
& 2.5 4 4 12| 53| 107 164 73 5| 26
*REAIBA WHEREIS, 9, 19, 117, IVv7, 22, V10, 20, VI10, VN30, IX6, XI6, XI6

B (SEHy) 1111, VIl4, V4, X10, 16
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=24 R g TEEIEMEBEE
B ok B & 7 OB Kk H X%
PR |FEE | T B RS
Swm| o ®m| W MRS 4 B M &
%7 | we| B #® =
() | () | & | & 3t |mox| () @y | B |=0.5/21.0 25 | 210 | 250 | 2100
1.6| 4| 165.80 53| 11.0| 85| 27| 4| 3| 1| o| o o
18| 5| 146.15 48| 307.0|140.0] 19| 10| 10| 5| 4| 3| 1
15] 8| 78.50 21| 225.0| 28.5| 17| 19| 19| 12| 9| o] o
25| 6| 177.05 45| 247.0| 61.0] 22| 15| 13| 12| 8| 1| o
23| 7| 178.90 41| 165.0| 59.5| 20| 12| 12| 10| 4| 1| o
8| 100.35 23| 485.5| 90.5| 25| 20| 17| 11| 8| 5| o
31| 5| 201.25 46| 775 355 10| 7| 7| 3| 3] o o
36| 7| 209.15 50| 158.0| 98.0] 30| 8| 4| 4| 3| 1| o
22| 7| 118.00 32| 152.0| 74.5| 6| 10| 9| 6| 3| 1| o
2.1 7| 148.60 43| 97.0| 2150 6| 12| 10| 7| 4| o| o
15| 4] 186.20 60| 113.0| 56.0| 6| 9| 8| 5| 4| 1| o
15| 4| 189.65 63| 47.0| 30.0| 6| 5| 4| 2| 2| o o
6 | 1899.60 43[2085.0 | 140.0 | m19| 131| 116 78| 52| 13| 1
]
o e = i
2 |RE | K| RS
—|4+HE O] = & 5 = w A & =
(R (B3FD)
0 1) 0 0 = | B | B | & | A | =
0 71 1| o o
BEE &S B |23 |6 | X | 2|6 | X | 2
0 1l o 1 s
2 ol ol o | BEEmEs® | =225 |60 | VviI| 5|60 X |13
9 ol o] o )
B E S B | =<0 |5 | W |2 |6 | m| 16
6 ol o] 1
6 ol o 0 = Ll ]| 59 | m g8 |60 | m | 15
11 ol ol o
' = | L |59 | m | 25|60 | I | 25
13 ol o] o
6 0 0 1 = > | 60 1 4 | 60 | I | 13
5 ol ol 1
™ = | D6 | 1 | 13|60 | m |13
0 a4l o o
58 8 1| 4 | #& x | &= | so | m | 8|60 | m | 4
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B f0 56 4F K =
vy = o8 i # C) 2
5 ikg ( = = (%)
Ton 248578
(om) |57 1y ;fg’f’ gfg #3% [0.1m|0.2m|0.3m [0.5m|1.0m |2.0m | Tty | EifE
D
I 691.6| 98.2| 4.9/92.7(99.5| 05| 1.1 2.8| 5.1/ 8.3[63.7 27
i 691.5 0.3] 5.9/94.6| 0.3 25| 4.1| 6.5|67.8 39
m 693.1| 5.610.9|98.9| 3.5 5.5| 5.3| 6.263.6 31
v 692.9| 11.2|16.0| 3.3| 8.3| 9.4/ 10.1 9.8| 8.9| 8.1|57.4 30
v 689.2| 15.1]190.1| 8.3|13.7|14.5|14.8 14.212.8|10.9 | 67.5 37
VI 689.8 | 17.4(21.0|12.5|17.4 |17.8 |17.7 16.9 | 15.4 | 13.1 | 84.0 48
I 690.4 | 23.4(26.4|17.5|22.4|22.4|22.5 21.3(19.2|16.2(79.7 47
VI 687.4| 22.3|25.5|17.1|22.1|22.8|23.1 22.4|21.1]18.8(77.3 45
X 692.4 | 17.4(20.2|13.4(18.3|19.8|20.2 20.5|20.3|19.5 | 82.3 63
X 692.9 | 13.0|17.1| 7.3|12.9|14.8|15.5 16.2 | 17.1|17.5 | 74.9 45
X 694.5| 6.7|11.3| 0.7| 5.9| 8.3| 9.3 10.5 | 12.5 | 14.5 | 69.2 41
X 695.0 3.0| 8.7/97.4| 1.0| 3.5| 4.3 5.7| 8.1/11.055.4 20
T 91.7| 11.1|15.6| 5.3|10.4 12.4|12.5 | 12.6 | 70.2 20
Iz} T M ® H
(m/s)
E- = B | BE| B BRE B X B 8| &8 |88
%‘215#@ BR | X A & l'( — |Clear Cloudy |Sunless /llu‘ L_l L,-l
I 3 1| 24 2 1 ol 12 12
I 5 7| 10 8 1 1
m 8 5| 15 9 6| 0 7| 7
N 0 50 14 12 4 ol of o
v 0 9| 13 11 5 of o o
VI 0 16| 3 22 50 0] o o
I 0 10 3 15 5/ o0of o o0
VIl 0 10| 4 17 4 o] o o
X 0 11| 5 17 6| o] o o0
X 0 8| 12 13 5 ol o| o
X 2 0] 14 10 3] o 9| 8
bl 0 0| 26 3 2{ o| 15| 23
£ 18 82| 143 139 47 1

*RPAB #E (0.1m) (0.2m) 131, FHEFKEVI 18, V22,

K| (\F) Vi1e
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F ¥ B BB MR
3 7K = E B B &k B #
TR|FER| F F HE R
e | oz Bk 24 B M B
x = w
x| wm| B e T
() | (mm) | B | & =+ | mox| () ary | B [20.1]21.0/ 25 | 210| 250 | 2100
2.0 1| 188.40 60 5.0 4.0 1 2 2 0 0 0 0
2.0 5| 173.55 57| 48.0| 25.5| 16 7 6 2 2 0 0
2.7 4| 201.90 55| 123.0| 24.0] 21| 11| 11 7 6 0 0
3.5 5| 208.15 53| 115.0| 35.0| 19| 12| 12| 10 3 0 0
3.1 5( 172.50 40| 147.0| 48.0| 17| 12| 11 5 4 0 0
2.1 8| 103.40 24| 116.5| 26.5| 25| 19| 17 7 3 0 0
3.0 7| 141.20 32| 229.0| 58.5 2| 18| 16| 12 5 2 0
2.8 7| 139.40 34| 316.5(195.0| 22| 16| 14 6 5 1 1
1.8 7| 95.80 26| 164.0| 40.0 4] 13| 13 9 5 0 0
1.7 5| 150.70 43| 124.0| 67.5| 22| 10 9 5 3 1 0
1.5 4| 142.95 46| 76.0| 35.5 2 6 6 5 3 0 0
2.1 1| 185.90 61 8.0 7.5 19 2 1 0 0 0 0
2.4 5| 1903.85 43|1472.0 195.0 | Vm22 | 128 | 118| 68| 39 4 1
b4
w2 = i
B | RE | &Kk | BB
| L BB O] 8oa = = w = % B
a1 3 (BBFD) (F3F)
=3 A =] =3 A B
21| 12
B S S | | =30 | 56 | vi| 10| 5 | vm| 31
16 4
1 0 EE S B | 22555 | V 1|5 | IX | 27
0 0 \
RIESER |0 55 X 1 56 v 19
0 0
0 0 - L 55 | X 1 {56 | I | 24
0 0
- i3 Ld | 55 | m 5 56 [ m | 18
0 0
0 0 S > |55 | W | 23 |56 | m | 31
11 1
= PBg |55 | w | 23| 56 | m | 25
27 0 —
07| 20 : k| k= |55 | m| 4|6 | v o1
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B 1 57 4 = R
;:_—I.-z - a5 “C) i %@ B (%)
A [E B X
Ok) 24550
(m) | 3| B2 B8 sz 0.1m0.2m [0.3m [0.5m|1.0m|2.0m | sy b |
1 | 690.7| o0.4] 58|94.8| 0.3 2.2 2.9 4.0| 5.8| 8.5|67.2 32
I | 693.4] 0.6] 5.9[9.5| 0.6 2.0| 2.5 3.3 4.6| 6.9|77.5 43
m | 694.3| 5.1/11.0[98.6| 3.8| 5.6| 6.1 6.2| 6.1 6.8]64.4 23
v | 692.2| 10.5|15.3| 3.6| 8.6 9.8]|10.2 10.0| 9.2| 8.5(58.7 25
v | 690.5| 18.5|22.1|10.4|15.816.1|16.1 15.4{13.4|11.2 | 62.3 39
VI | e87.6| 18.1(21.7|11.8|17.718.1|18.3 17.8 | 16.6 | 14.2 | 75.7 40
VI | 688.6| 19.3|22.2|15.4|19.6|20.120.0 19.318.1|15.983.8 63
VI | 680.1| 22.9(26.3[17.7|22.1|22.8]23.0 22.221.0(18.8|79.6 47
X | 691.4| 17.8|21.1|13.9|18.4|19.6(19.9 20.0|19.9(19.3|83.8 54
X | 693.5| 13.1|17.6| 7.6|13.3|15.1|15.7 6.2 17.1 | 17.5 | 76.2 49
X | 694.6| 9.6]/13.9| 4.6| 9.4|11.2|11.8 12.5{14.0 | 15.2 | 77.5 40
M | 691.9| 4.2 9.8]99.2| 3.1 6.1 7.3| 9.5|12.1|65.2 38
£ | 691.5| 11.7|16.1] 6.0|11.1 12.7 12.9(12.9 | 12.9 | 72.7 23
A 3 # ] B
(m/s)

£ = B | BE| B2 Wl E X|FT B ER| B | B2
%I%ﬁig BR > A & R =— |[Clear| Cloudy | Sunless ,llu‘ |_| L,J
1 5 0| 18 3 3 o 7

I 4 0| 14 8 3 4
1 2 o| 15 10 4 2| 10
v 0 o| 12 11 2 o] 1
v 0 o 13 9 3 o] o0
VI 0 o 5 18 4 of o0
I 0 o| s 22 8 o| o
VI 0 o| 6 11 6 o o
X 0 0| 2 20 9 ol o
X 0 1| 12 14 5 1l o
Xt 0 o 12 12 7 2| 4
¥I 1 0| 18 8 2 7| 13
& 12 1| 132 146 56 25| 39
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=3 - =N E R Y - N /A N
fee 7K =< g 3 B X H #
R | PR | F B KRS8
o A A NEES B M R
% |wm| B A
(n) | (am) | B | g8 3 |mow| @ | A B (20121025 | 210 | 250 | 100
1.8 3| 158.10 51| 19.0| 7.0| 28| 8| 6| 1| o o0 0
1.6| 4| 180.35 50| 53.5| 11.5| 19| 8| 6| 6| 1| 0| 0
2.4| 4| 202.80 55| 57.0| 11.0| 15| 13| 11| 6| 3| 0| 0
3.1| 5| 175.80 45| 57.0| 26.0| 15| 11| 8| 4| 1| o] 0
3.5| 4| 202.00 47| 67.0| 14.0| 6| 11| 9| 5| 4| of 0
2.5 7| 125.50 29| 253.0| 47.0| 21| 18| 17| 12| 8| o 0
1.9 8| 95.80 22| 176.5| 39.5| 31| 21| 20| 16| 5| 0] 0
2.5| 6| 122.00 29| 565.5|282.5| 1| 21| 19| 13| 10| 2| 1
1.9 8| 95.10 26| 441.0|163.5| 12| 16| 14| 9| 7| 2| 2
1.7 5| 164.65 47| 164.5| 90.0| 8| 8| 8| 4| 3| 1| 0
1.4 5| 120.75 42| 103.0] 52.0| 20| 10| 7| 4| 3| 1| o0
1.6| 3| 157.60 52| 10.0| 7.5| 26| 3| 3| 1| o0 0| o
2.2| 5|1809.45|  41|1967.0 |282.5| vmi| 148 | 128| 81| 45| 6| 3
#
" = i
B |RE | &k | HE .
| LB O] & & s = w8 & &
28 4 (FBF) (BgF0)
=1 A H = A H
23| 6 ,
= oA B | =30
4| 4
2 0 BEE KB | 22| 57 |V 11 | 57 | IX | 27
ol o \
BES®E |[=s0 |5 | x| 9|57 | V|19
ol o
0 0 ] L] | 56 | @ | 10|57 | IO 9
ol o0
. . E< | LJ |56 | @ [ 11|57 | V|1l
ol o = 3¢ | 56 | x| 25 | 57 | I | 2
5/ o0
= |Bg |56 | @ |26 |57 | M| 4
18 1
90| 15 " * I | 56 | ® 7 |57 | IV | 11
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W 1 58 & K ®

7 i B i ' (C) " R

5 |8 E o 7 = (%)
o |5 5| 2 |22 ey |
F | g | g | MR (0.1m(0.2m(0.3m|0.5m |1.0m|2.0m| iy fgf’ﬁ?ﬁﬁ\
I 694.0 2.0 7.2195.6| 0.3] 2.2 4.2 6.3 9.2164.7 34
II 691.8 1.0, 6.0|94.7| 0.2| 2.0 2.5 3.5| 49| 7.2(69.0 33
1 692.5 3.9 8.9|98.9{ 3.2 4.6| 5.2 54| 5.6| 6.6]69.7 31
N 692.8 12.6 | 17.8 | 6.4[10.611.011.1 10.6 | 9.3 8.3|68.2 35
v 690.4 16.8121.1| 9.3|15.1|15.3]15.7 15.113.6 | 11.6 | 62.4 24
VI 687.6 17.2121.1111.6 | 17.1 | 17.5| 17.9 17.4116.0 | 14.0 | 74.3 34
VI 686.7 20.6 | 24.216.5|20.220.220.2 19.4 | 17.8 | 15.7 83‘.8 58
v 688.0 23.4127.0|18.6|23.0|23.3|23.6 22.9121.3|19.181.6 61
X 691.1 18.6 | 21.7(15.2|19.9(20.8 | 21.5 21.4(21.2|20.0|87.1 61
X 693.4 12.8117.2 | 7.2]13.4}14.8|15.7 16.2 |1 17.2 | 17.977.2 54
D¢ 692.4 7.9112.5| 1.7 7.0| 8.9]10.1 10.9|12.8 | 14.8 | 67.7 30
X 691.4 2.3 7.8(195.7] 1.1| 3.2| 4.3 5.4 8.211.3 66.‘(‘) 40
& 91.0 11.6 (16.0| 6.010.9|12.0 12,7 1 12.9 | 13.0 72.2 24

& & M ® H
(m/s)

E | % | B BE| E | BRW(E X K B SR B | BE
géﬁz’?! BR| X A & [X | = |Clear Cloudy | Sunless )Lu' l_l L.—'
I 2 24 5 3 6 12
I 4 17 5 3 5 7
11 1 10 15 8 0 12
I 0 6 16 5 0 0
v 0 11 11 3 0 0
VI 0 6 15 7 0 0
VI 0 2 19 10 0 0
VI 0 9 16 15 0 0
X 0 5 20 11 0 0
X 0 12 14 5 0 0
) 4 1 18 6 3 2 3
X 3 21 3 1 19 24
&F 11 141 145 74 32 58

*REAE @B 29, 30, 31, FAFEEVN 14, 15, 16, IX 27, 28
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E #H gt Bk R B MIF A
fe 7K = 2 5 B Kk B K
TR | EE| P F g
B | s | B B X 24 B M B
x = w E
EH | BE
(o) | (um) | R |48 2 |mow| @ | B g lzo|z1.0{25 | 210 2502100
1.8 2| 174.85 s6| 27.5| 85| 18| 9| 6| 2| o of o
2.4 3| 181.70 s9| 28.0| 9.0/ 2| 7| 6| 3| of of o
1.9 6| 159.55 43| 75.5| 11.0| 13| 15| 13| 7| 3| o] 0
2.7| 7| 158.85 41| 140.5| 605 16| 13| 13| 4| 3| 1| o
3.5/ 5| 199.80 46| 178.1]105.0| 16| 7| 6| 5| 4 1 1
2.4| 7| 128.50 30| 114.5| 425 20| 16| 14| 6| 3| of o
2.0 8] 104.55 o4 | 172.0| 28.0| 17| 21| 18| 10| 8| of o
30| 6] 133.15 32| 483.5|155.5| 15| 18| 14| 10| 7| 3| 2
16| 8| 82.75 22| 322.5|127.5| 28| 23| 20| 11| 8 1 1
16| 5| 149.85 43| 88.5| 225| 8| 9| 7| 5| 5| of o
1.7| 3| 162.15 20| 39.0| 13.5| 23| 10| 9| 3 1| o o
2.1 2| 178.30 s9| 5.5/ 20| 11| 5| 3| o of of o
25| 5/1814.00 41]1675.1|155.5 | vmi5| 153 | 129| 66| 42| 6| 4
g
Ll = i
WwE | Xk | BT
LU O] 5w s = m B w H
(FgFm) (RgFD)
24| 10 % | A | B ==
2| 14 .
B E S| | =30 | 58 | vi| 26| 58 | vmo| 30
17| 1
0 0 B & K & | =25° | 58 \Y% 14 58 X 13
o] o )
BESE | =<0 |5 | X | 2|5 |V 1
o] o
0 0 = L) 57| X | 26 | 58| II | 23
o] o
. ) 1 K L | 57 | m | 26 | 58 | H | 20
ol o = > |57 | m | 26 | 58 | I | 16
AR
B |57 | m | 26|58 | m | 16
28| 2
02| 27 5 L] | 57| @ | 25| 58 | IV 1
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BB fI 59 & = o

v B = B Hh &’ (0 R

5 |8 E o = = (%)
(her) o | o 24751
() |5 3y | £ B stk |0.1m [0.2m [0.3m[0.5m |1.0m |2.0m | 5 | TiE
DB/
I 691.8| 99.5| 4.3(92.9/99.1| 0.8/ 1.4 2.4| 4.9| 8.0]62.0 28
I 691.2 | 99.2| 3.0/92.2/99.4| 0.2 1.4| 3.4| 6.1|51.4 32
m 691.2 2.8} 6.4(94.5| 0.4 1.3 2.4 3.1| 5.1/56.0 17
v 693.6 9.9(14.1] 2.1| 7.2| 7.9| 8.1 7.9| 6.5| 6.0|59.6 30
v 690.2 | 15.9(19.1| 8.5|13.2|13.9|14.1 13.6 [ 11.6 | 9.560.7 30
Vi 688.9 | 18.7(21.4(14.8|17.9(18.1|18.2 17.3(15.4 | 12.8 | 81.5 58
Vi 687.6 | 23.6|26.2|18.0/22.0|22.0|22.1 20.9 | 18.8 | 15.9 | 75.3 55
VI 689.8 | 25.3(29.3|18.3|23.3[24.0(24.6 23.7121.8|18.7 | 67.6 49
X 690.9 | 19.4(22.9|14.3|19.6|20.5|21.2 21.1]20.819.3|74.5 41
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